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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.
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Find the missing numbers.  These both have the same rule.  What is the rule?
If
   1 , 12 = 13
   2 , 15 = 17
   3 , 18 = 21
   4 , 21 = 25
Then
   5 , 24 = ?

If
   8 , 11 = 19
   9 , 14 = 23
   10 , 17 = 27
   11 , 19 = 30
Then
   12 , 23 = ?

Complete each pattern.  Write what the rule is.

72 66 60

54 48

36 30

18 12
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

14,  _____,  42,  56,  70,  84,  

98,  112,  126

How many hours are there 
from 6 a.m. to 10 p.m.?

Find a clock.  What time is it 
right now?

A,  _____,  I,  M,  Q,  U,  Y 67
8+

double 900

r,  8,  j,  a,  r,  8,  j,  a,  r,  8,  

_____,  a,  r,  8,  j

5 ___ 2 ___ 1 ___ 3 = 5

April has a bowl.  She puts 
10 dimes into the bowl.  
Adam sees the bowl and 
takes 3 dimes.  How much 
money (in cents) is left in 
the bowl?

4 x 6 - 4 Which number has exactly 
3 ten thousands?

Is 27 a composite or a 
prime number?
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Spin again. I needed to spin time(s) to finish.

It is 7:44 when Sara leaves 
her house.  She arrives at 
school at 8:02.  How much 
time has passed?

8 - 6 + 1 + 1 + 3

6,  8,  10,  12,  _____,  16,  18,  

20,  22,  24

Mary has a bowl.  She puts 
10 nickels into the bowl.  
Gavin sees the bowl and 
takes 3 nickels.  How much 
money (in cents) is left in 
the bowl?

Wendy is three years 
younger than her older 
sister, Anne.  Anne is 
thirteen years old.  What is 
the sum of their ages?

6 + 4 - 2 + 4

What is the sum of 10 and 
821?

Holly has 35 books.  She 
organized them equally 
into 5 boxes.  How many 
books in each box?

Name the shape with four 
sides and four angles.

(10 x 7) + 9 12 x 5 = What is the sum of 50 and 
289?
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National Jelly Bean Day 
is 5 days after Stress 
Awareness Day. Stress 
Awareness Day is on 
April 17. On what date is 
National Jelly Bean Day?

Can you think of a five-letter word 
that has the vowel O in it?

How many 7s are in 63?
9 7

- 8 1

Would you use a ruler or a 
yardstick to measure the 
length of a book?

What is the value
of the BIG digit?

604,072

5 2
- 4 3

Round the number to the
place value of the BIG number.

6,262,678

One side of a square 
measures seven centimeters.  
What is the area of this 
square?

Circle the word that best completes the 
sentence.
(Their/There) has to be an easier 
way to learn how to tell time!

Which number is one 
hundred twenty-nine?
1,092 1,290 291
129
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7 2 5 1 7 5 6 2 = 3 - 8 4 - 2 =
5 - 3

Use the pieces above to help you fill in the runaway math puzzle.

How do you know if a number is divisible by 9?  Use this trick.

231,021 2 + 3 + 1 + 0 + 2 + 1 =  

+ =  Is that a multiple of 9?  Circle:  Yes   No

Circle one:  231,021 is divisible by nine       231,021 is not divisible by nine

62,389,278 + + + + + + + =  

+ =  Is that a multiple of 9?  Circle:  Yes   No

Circle one:  62,389,278 is divisible by nine       62,389,278 is not divisible by nine

word root mob can mean move mobilize, immobile

8

1 4 - 9 = -

1

= 8

1 -

4 6

6 - 2 = 1 -

8 1

- 2 0 - 0

3 6 -

2 4 =

- 7

4 -

7
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Sudoku Sums of 11
Each row, column, and box must have the numbers 1 through 6.
Hint: Look for sudoku sums.  The sum of the two boxes inside of 
the dashed lines is 11.

Here is an example of a sudoku sum of 11: 8 3

3 2

4

2 3

5

2 5 3 1

1

fuhne

funny

fuhnea

funn

If forty-four crayons are 
divided into eleven equal 
rows, how many crayons are 
in each row?

If  = 11, then  - 3  = 

Which number is greater: 0.3 
or 0.33?

Locate where to put the number 681,000
and label the point B.

665,000 685,000

Share 12 equally among 2. Cross out all of the prepositional 
phrases in the sentence.
I sat under the tree in the shade 
with my lemonade.
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912,86
+ 014,61

710,93
+ 630,92

532,85
+ 102,03

450,8
- 688,3

101,41
- 994,9

475,8
- 011,1

952
+ 984

323,1
- 634

288
- 057

910,4
+ 121,8

760,7
+ 628,7

118,11
- 205,7

750,1
- 107

936
+ 005

187
+ 604

109,17
- 526

108,08
- 197

439,47
+ 891

132
+ 441

601,1
- 585

445
+ 441

8
+ 9

+ 4

+ 8

92
-

72
+

33
- 6

- 7

+ 5

52
+

13
+

83
- 3

https://www.mathworksheets.com


Name:
Week of December 15
MathWorksheets.com

2 0 = 2 0 + 3 + 2 = 5 9 4 = 1

Use the pieces above to help you fill in the runaway math puzzle.

2 0 - 4 =
What temperature is 
eighteen degrees above 
freezing in Fahrenheit? Hint: 
The freezing point in 
Fahrenheit is 32 degrees.

scari

scae

scere

scare

Write the length in centimeters.

cm 1 2 3 4 5 6

What is the range of these 
numbers?

21, 19, 28, 28, 28, 19 5 15

word root ver can mean true verdict, verbatim

+ 1
+ 7 7 1

= -
+ 8 5 5
0
+ 5 4
4 + 8 -
= 3
6 3
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

65 ones 31 hundreds 96 ones

55 hundreds 19 tens 72 ones

40 hundreds 84 thousands 23 thousands

32 hundreds 42 tens 11 ones

88 tens 78 hundreds 28 tens

64 ones 59 ones 96 tens

27 tens 51 hundreds 82 tens

75 ones 49 tens 60 tens

35 ten-thousands 11 tens 99 thousands
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Spin again. I needed to spin time(s) to finish.

the number ten greater 

than 23

the number ten greater 

than 56

the number ten greater 

than 54

the number ten greater 

than 33

six tens the number ten greater 

than 37

nine tens eight tens the number ten greater 

than 68

two tens the number ten greater 

than 16

the number ten greater 

than 83

the number ten greater 

than 58

five tens four tens

seven tens the number ten greater 

than 36

the number ten greater 

than 27

three tens the number ten greater 

than 10

four tens
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Emily put daffodils and daisies in a vase.  She put nine more daffodils than daisies in the 
vase.  There are twenty-one flowers in all.  How many daisies are in the vase?

Miss Allen forgot to bring cookies for her class.  They said that she was in the doghouse.  
The next day she brought 4 cookies for each student.  If there are 17 students in the class, 
how many cookies did she bring to them?

Mr. and Mrs.  Thompson put together a log cabin in the mountains.  The log cabin kit and 
all their supplies cost $35,680.  If someone else had built the cabin, it would have cost 
$60,363.  How much did they save by building the cabin themselves?
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6 + 10 =

12 + 7 =

5 + 11 =

2 + 7 =

12 + 3 =

3 + 3 =

12 + 8 =

5 + 9 =

7 + 6 =

12 + 12 =

5 + 4 =

4 10 5 11 16 21 2 1 14 11 6 12 16 23 12 60

14 4 3 10 2 17 15 23 14 9 7 14 6 15 12 15

7 3 6 13 8 19 7 19 11 3 7 9 18 5 9 17

16 15 27 4 20 11 2 6 3 3 9 5 20 7 8 15

16 5 6 9 14 7 12 5 19 3 1 9 4 13 13 1

27 13 6 10 16 16 7 24 9 7 2 5 3 16 10 9

3 5 19 25 1 18 19 1 8 6 7 1 5 5 4 9

10 5 9 12 20 27 6 10 3 14 14 24 24 12 12 21

14 9 42 6 8 13 8 11 3 12 14 20 13 3 14 20

9 6 19 8 12 19 4 5 13 9 15 15 5 3 19 2

1 10 9 24 5 12 12 11 6 5 11 4 11 16 2 1

7 4 14 6 11 20 60 4 7 21 15 12 6 26 16 5

12 11 24 12 12 3 15 7 12 22 20 14 6 4 19 11

15 3 12 3 24 14 4 14 60 12 9 10 42 5 13 6

+ =

16

Write
operation.

Write = sign.

Circle.

12 + 8 =

11 + 8 =

5 + 2 =

2 + 4 =

5 + 5 =

3 + 8 =

2 + 10 =

12 + 6 =

9 + 5 =

7 + 3 =

10 + 10 =

6 8 14 5 12 20 8 10 3 6 14 18 7 10 7 7

10 4 13 14 21 7 5 15 8 10 3 5 12 6 2 6

5 10 9 11 2 4 18 25 14 2 7 2 20 20 21 14

17 19 12 20 15 16 28 4 11 5 2 7 14 8 5 4

12 2 14 45 2 2 17 22 12 3 11 18 6 12 6 17

8 1 9 4 8 4 5 5 10 10 20 10 5 5 25 8

10 20 5 15 11 6 26 5 10 20 10 12 5 13 11 2

23 8 12 8 20 15 4 15 0 9 8 3 10 23 12 11

20 10 8 10 3 4 20 15 5 8 7 3 15 8 14 8

11 10 4 23 6 7 14 8 10 11 4 12 12 3 5 4

8 5 15 6 22 14 8 11 14 45 10 14 10 4 9 3

3 12 12 8 8 10 3 8 2 4 8 10 2 16 5 18

10 11 11 5 25 3 10 19 10 3 7 19 22 17 16 11

+ =

20
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Each row, column, and box must have the numbers 1 
through 6.  The first box is done.

2 6 5 3

4 1 3

4 1

5

6

3 2 5

Each row, column, and box must have 4 different 
pictures.
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ACROSS

1. Sum of digits of 14-Down

3. Six tens more than 14-Down

4. The thousands in 16-Across

7. the hundreds in 4-Down + the thousands in 
16-Across + the ones in 8-Across + the tens in 
9-Down

8. The tens in 4-Down

10. The thousands in 4-Down

13. the hundreds in 16-Across + the tens in 3-Across + 
the ones in 14-Across

14. 14-Down plus 10-Across

15. Eight times 17-Down

16. Six less than 4-Down

DOWN

1. The thousands in 7-Across

2. The hundreds in 4-Down

3. Seven less than 14-Down

4. five thousand three hundred eighty
5. the tens in 9-Down + the thousands in 4-Down + 

the hundreds in 7-Across

6. the thousands in 7-Across + the ones in 14-Down + 
the tens in 16-Across + the hundreds in 4-Down

9. Nickels in one dollar

11. the ones in 4-Across + the hundreds in 6-Down + 
the thousands in 5-Down

12. Nine more than 7-Across

14. Six more than 8-Across

17. The tens in 16-Across

1 2 3 4

5 6

7 8

9 10

11 12

13 14

15 16 17

9 - 5 + 2 What number is halfway 
between 43 and 47?

Round 686 to the nearest 
hundred.

word root im can mean not imperfect, impossible
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